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Training Method A
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(X .~ X.)- (4, 14,)

\/Sf(n1—1)+S§(n2—1)\/ 11

n1+n2_2 n1 n2

t =

(47.73—5650) -0

B (19.495)(14) +(18.273)(11) |1 1

15+12 — 2 15 12
_ 520

Ift< -2.0600rt > 2.060, reject Ho.
If -2.060 <t <2.060, do not reject Ho.

Since t =-5.20 < -2.060, reject Ho.
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t = d-D 5:&
Sd ! —\ 2
Jn . \/Z(d—d)
df =n-1 ‘ n-1
n= number of pairs , (=d)
| . 2d -
d = sample difference in pairs : -

D = mean population difference
S, = standard deviation of sample difference

_ di‘ta/zv N
d = mean sample difference | ﬁ
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Data: d, = difference (O.C.-EVRA)

d=177 s,=148 n=13
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torsgn = 2.179

95%CT : 1.77 +2.179(0.41) = 1.77 + 0.89 = (0.88.,2.66)



